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CDS & AFCAT 1 2025 LIVE CLASS - MATHS - PART 2

QUESTION

A certain sum of money is given at a certain rate of interest for 8 years, if the rate of interest

would be 10.5% more, then get Rs2100 more interest. Find the Principal.
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COMPOUND INTEREST

= Doferab js added Fo principal - whenever  caloulated

-HF% -/-Yyo
S GO sl Femt G CA Y
p H’/’EE)} (4”409’@\7 (374 dmh
)
[uﬁdw) p /+ r P[HL)

(/90



CDS & AFCAT 1 2025 LIVE CLASS - MATHS - PART 2

COMPOUND INTEREST
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Q) If the amount on a certain principal in 3 years at 12% rate of
interest compounded annually 1s X 12,000, what will be the
amount (in I) after the 41 1 year?

(@) 14330 (b) 15440  (c) 13440 (d) 14550
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Q) If the amount on a certain principal in 3 years at 12% rate of
interest compounded annually 1s ¥ 12,000, what will be the
amount (in ¥) after the 4™ year?

(@) 14330 (b) 15440  (c) 13440 (d) 14550

Ans: (c)
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COMPOUND INTEREST — COMPOUNDED MONTHLY
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Q)What will be the compound 1nterest on a sum 0£%31,250 for

2 years at 12% p.a., if the mterest 1s compounded 8-monthly?
—— A ¢
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Q)What will be the compound 1nterest on a sum 0£%31,250 for
2 years at 12% p.a., if the mterest 1s compounded 8-monthly?

@) T8106 (b) T8116 (c) T8,016 (d) 8,156

Ans: (b)
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EQUAL INSTALLMENTS

Equal annual instalment to pay the borrowed amount
Let the value of each instalment = ¥x

Rate = r% and time = n years

Then, Borrowed Amount
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DIFFERENCE BETWEEN SI AND Ci

2

CI—SI = P(—E—) forT =2 years Cl—8) =~ pp*
~ "\100 - <) =
/oo %
Cl —SI = PR*(300 + R) for T =3 years
- 100%) R - = PR (300 1£)

/oo



CDS & AFCAT 1 2025 LIVE CLASS - MATHS - PART 2

If the rate of interest is 5%, then what would (PYQ -2024 - 1)

be the difference between compound interest
and simple interest received on ¥ 10,000

(each) after 3 years from now ?
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Let x be the compound interest at the end of
3 years on a sum of ¥ 1000 at the rate of %
compounded annually and y be the simple
interest at the end of 3 years on a sum of
Z 1000 at the annual rate of 11%. What is the
difference between x and y ? -
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Q) What is the least number of years in which a sum of
money at 20% compound interest will be more than

doubled ?
3 %
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Q) What is the least number of years in which a sum of

money at 20% compound interest will be more than
doubled ?

@) 7 (b) 6
©) 3 (d) 4

Ans: (d)
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Q) There 1s 60% increase 1 an amount in 6 years at simple
interest. What will be the compound interest on < 12,000
after 3 years at the same rate of interest?

(a) 2,160 (b) 3,120
(¢) 3,972 (d) 36,240
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Q) There 1s 60% increase 1 an amount in 6 years at simple
interest. What will be the compound interest on < 12,000
after 3 years at the same rate of interest?

(@) ¥2,160 (b) 3,120
(c) ¥3,972 (d) 6,240

Ans: (c)

EXAMS
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Three amounts x, y, z are such that y (PYQ —-2024 -11)

is the compound interest on x; and z is
the compound interest on y. The rate of
interest per annum and the time period

in years are same. Which one of the
following is correct ? ﬁ = x/ [+
/po

(@) ¥ =yz
(b) y* =z z = Ot(‘/f_r__)é

5 /00
(©) xy
(d) x=yz L = i ( _L

X



CDS & AFCAT 1 2025 LIVE CLASS - MATHS - PART 2

Q) In 3 years ¥ 3000 amounts to ¥ 3993 at x% compound interest,
compounded annually. The value ofx 1s

|
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Q) In 3 years ¥ 3000 amounts to ¥ 3993 at x% compound interest,
compounded annually. The value ofx 1s

@ 10 (b) 8 © > (d) 3%

Ans: (a)
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Q) A sum of T 18,000 is lent at 10% p.a. compound interest,
compounded annually. What 1s the difference between the
compound interest for 3™ year and 4% year?

@) Z220.60 (b) T217.80°
© Z221.80 (d) 215.40

EXAMS
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Q) A sum of T 18,000 is lent at 10% p.a. compound interest,
compounded annually. What 1s the difference between the
compound interest for 3™ year and 4% year?

@) Z220.60 (b) T217.80°
© Z221.80 (d) T215.40

Ans: (b)

EXAMS
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